Monday 11.05.2020
Fluent in Five
1. 1,687 + 2,871 =
2. 3,114 – 2,971 =
3. 12 x 8 =
4. 11 x ___ = 77
5. ½ of 46 = 
Times Table Rockstars
Spend 10 minutes on TT Rockstars (ON SOUNDCHECK PLEASE!)
Maths Task
Today we will start with multiplying and dividing by 10 and 100.
REMEMBER! When you multiply your digits move left and when you divide your digits move right. 
The distance they move depends on the amount of zeros in your number. If you are multiplying by 100 they move left, 2 spaces because 100 has 2 zeros! The decimal point does not move! Use the place value chart below to help you.
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Fill in the space with either x or + so that the calculation is correct:
542 10 = 54.2 46 10 = 460
473 100 = 4.73 37 10 = 370

True (T) or False (F):
67 x 100 = 670 809 + 10 = 80.9

568 + 100 = 0.568 64 x 10 = 640
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34x10 = 65+ 10 =

65x100=__ 42+10=__
53+10=__ 17 x 100 =

87x10=___ 453x10=___
785+100=__ 34x100=__
64x10=__ 246+10=__
39x100=___ 124 + 100 =

283+10=____ 736x10=____

Fill in the missing numbers:
67 x =670 68 + =6.8

640 + =6.4 73 x 7300





